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5.5.2
48b (nww 310 20 2v3) 2 50b (Pamw 715)

Note: a nxvn 1377 whose owners/donors die before achieving 779 has no future on the narp and is sent Amn5; this is only true
about a r’ nxvn (where the owner/donor is an individual)
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L. Question posed to nww 11 re: Na9n (walking the 07 to the nam) with the left hand
a. Answer: from our mwn: takes 93 in his left hand (2>left is valid for na5n)
i. Challenge: why not answer from bringing up limbs (leg in L hand)
1. Defense: bringing up limbs doesn’t affect n193; n1vp does
ii. Challenge: nww "1 used Rna (explicitly invalidates Y8nw) to challenge xTon "
1.  n”:used v. 1 to demonstrate that n3%n is not an N1y and may be done by a 1)
a. (challenge: v.1 - mw3 11 na%n
b.  Defense: 7t simply held the *55 without walking it; the 13 took it from him)
2. Defense: 1t nww " answered in affirmative, then he learned the ®n»11 invalidating
b.  Related: a9 '7’s query: another 11> filled his hands and put the nyvp in the 3"n2’s hands —p'n (v. 2)
II.  9"am’s query re: standing in for deceased 3"n3 between nyan and nran
a.  Nrn 71 (elder/teacher of 5727): considered the question to be impressive
i. But only: re position that a 2" 102 may bring in the 790 07 slaughtered by 1% 103 (79 Y 1721 192)
ii. Note: n™1 was a a medical expert who was consulted on the therapeutic value of particular herbs
b.  Note: question only valid if the 3’3 doesn’t perform a 2" nyan in the p”n1p (see III):
i. If he does: it is clear that it is sufficient, for the 2" 313 performed a nyan OR
1. It is clear: that it is insufficient, because the measures of n1an aren’t identical
a.  Which may be: the meaning behind nnTn ®°n 10
ii. If he doesn’t: it is a valid question
II. xn»1a: describing 2n nyan inside (requiring great dexterity):
a. He puts: the nnnn on the ground, holds the 93
b.  Then lifts: the cup (712) and edges it up with his thumbs until it gets to his forearms,
c. Then he spills: the nmop into his hands-full,
d. The places it: on the nnnn, either piled in 1 spot (to delay smoking) or spread out (to speed it up)
i. Implication: there is a 2" nyan; (answer to Y”"17’s question can go either way)
IV. Analyzing dispute about 78 5» 171 (1) (8) 78 — standing in for deceased 312 between 7970 NY'NY and M7 NN
a.  Multigenerational dispute: among YR’ YIR RMNR
i. Arguments: in favor of position 79 5w 171 R 992
1. np2 7277 members may leave/join Nan until No’nw (> post NY’NY no longer “nY”)
a.  Block: special text (v. 4) — nwn nvnn — as long as it is still a (living) nw
2. Redemption of: nRnv Nnna M21 (done with nw) msut be done before nvmw
a. Block: nw:nw from a"p (v. 5)
b.  Challenge: if so, should require 151 ,mw 12 ,mnnn etc.
i. Defense: n1an n1an expands eligible animals for 1979 (7w limits to live)
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ii. Arquments: in favor of position 99 Y¥ 1721 992

1. V6: called 19 even after nonw
a.  Dblock: teaches that all the parts must be taken out

2. V7:mron are called "19” and "yw” after nomw
a. Block: all agree that “all the parts” = "12”; dispute re: o7 alone

3. wN’1v.3 - 1R only brings 07 in, yet states that he brings 15 inside
a. Block: necessary prerequisite for entrance is his 19

b.  Question: should be moot; 178 Y® 173 is a NRVN—>NNNY 1YY INNY NROVN (see note)
i. Answer: it is a 11ax nROVN

1. Proof: n" disputes p"n, claiming that 3”0y 92 is n’ 129p (> someone holds it is Max)

a.  Challenge: »» disputes p”n, claiming that 1ax Y® 927 nYYn 79 is Max
i. Note: does this support the 71 it is Tn?

2. Rejected (x37): all agree that »"1’s list is 112 and n™’s list is n’ —
a.  Both: challenging rule of p”n that 7ny/max is critical split vis-a-vis N0 naw N7
b.  Rather: the critical split is y1ap 01

3. Challenge (8375 »228) : 2”0V 19 is a MaX 127p —
a. In context of: dispute w"n R™/nTn " re: status of Max NRYN
b.  ~27 referent is 927 mHYn 19 (3" is referent to 1YW)
c.  Challenge (»a8): explicit Xn»11 listing both 95 and vyw of 2"y
d. Defense (¥37): instead of 71128 nrvn read Pamwn nNrYN

i. Reason: for distinction (i.e. why X1 refuses to call 1908 79 a ¥"p):
1. Not to: reckon the 113 as a Max (vis-a-vis 127p due to NRN)
ii. Proof: 8™ states “according to the 7"n that 3”"nv 19 is a T’ 129p...” > someone holds x"p
1. Rejection: other position is pamw 121p (of all the n2)
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